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For the listener heard and erred, etc. they made him Tohmay
because of utensils which hover over a corpse

Overview

197w " vehemently disagrees with the mawn which stated DX PR°an Pov20RN 9
Y727 222 Rmv:, and said the one who transcribed this 79%7 made a mistake; for
in reality they made the person carrying the &»v ¥71 because of 2°23 which are
nin 9y o0 nRn. There is a dispute between °"wa and mMooin as to what the Rin of the
mwn assumed and what ©"9 maintains.

- 2293 NNV 929KV 11INNL 1D903Pa YIS
“''w explained that the meaning of s'0"9 statement nin 5y 121 1MIRAY, is that they

were X»un the farmer a 782 until the evening -
= 7Y AINMDIV PRNV JIY DIDNNNN DD YT DIVN

Since the farmer touched 2°%> which were 23I18% on a N, so that the 2°%) are X»w

for a seven day 8%, and the farmer is X0 only 27 NXMD -
= NP»IINTI 29Y HNNIV NAVT HN RNV YD P90

Like the rule of one who touches a n» X»w, who is n''77% 2399 IRPIWY RAw.,

nooIN asks on >"wAD:
- 3’? NNV ININNOVY 92D NN YNIVN AYL NNy nup

And there is a difficulty; why did the listener err and he assumed that they

were 8»u» the 12°X for 't XMW -
= 29 NNV RNOVT HN NNV YD OTINRY NID VIV 92799 11D

Since it is an obvious ruling that a person who touches a n» X%t becomes X»av
for a 29y NX®IW, not a T XMW —

v 7",

> A n» (corpse) is called Xm0 Max >ax, anything which comes into contact with the n» whether by touching it or
hovering over it or being under the same roof with it, is called a n» &nv who is considered an 7?07 8. A N1 XY
requires seven days to become 7170 provided that the nXvr °» from the 717X 779 79K is sprinkled on him on the third
and seventh day. After which he goes to the mp»n and is 7w, Whoever touches the nxmvi a8 (or the nn Xnv)
becomes a ¥nW? MR who can be 921w immediately and is &b only until nightfall. In our case (according to v")
the farmer touched the ¥y77% (which was an 78m107 28 because it was N 9Y 9n8n) so the farmer became a WX
XMWY and is really 27y nxmw Xnv only. However the ymw thought that he is 7yaw nkmwv Rnw because the Y771 was
5787 on him and on the nn. However, 0" rejected this view since the ¥711 was not wide a nov.

? The listener heard the story that they were Xaun this 792°X who was carrying a ¥77 which was 2782 on a na. Why
would he assume that the 715X became ®nv through 278 nXmw since the Y771 was not a nov nma. He should have
realized that it is only a 27y nXm, for the 712°X touched the ¥777 which is a nn Xnv.
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mooIn has an additional question on *"wA5:
- SDYMana AN DIV /T RNV RNV 999XN NN nT 9

And additionally the 92°X is n''77% 't N2V X2V because it is 2¥M12573 IR™W -
- (v 3,15 91 DAY NTAYT 72 DI YANTI RNSNNTA /T RNV 0NN 29712 *a9p4

For 297122 29572 29p° is X»v for seven days n''m% as j12m1 27 states in the

second P92 of "'y noon -
= (0 mwn X PA9) STHITAN WA N2INT 7T NIV NV T9AN 21 Y 0291211 19%9N)

And even if the 2971217 is through an 7 he is also X»v a 't nX»W as is evident
in the beginning of nY»rx nvawn —

mooIn offers his interpretation:
= ©952N02 ANNIV DIYVN /T XMV 99INRD 1NINNVY NN T9Y

Therefore it seems to '01n that they were X»u» the 95°% a 't nR™Ww because of

25712972 INMAI -
- ©92N2 DNV PT 9 93 DIV 1INRY 595 NV YY)

However the listener erred because the laws of 29112%m72 IR™w are not that
simple -

= HOV IDYPNA YWIVY 11D ININNV DN DIVNT 920 NP
So the ¥ assumed that they were X»w» the 92°% because the Y771 was 9I8»

over him since its circumference was a nm5¥ even though its diameter (width) was not a
1ov -
PT93SN DIV PHNH TUN 5 ALY ANMIV PN PYVYLNRA Y5 *naw oY

Therefore he mistakenly taught (according to v"7) that all oubun are X%

* Previously '01n asked why would the ¥ assume that he was 72w nXmIw X2b and not 27w XML Xxw. Now Moo is
asking on the contrary, how can >"¥" conclude that they were only X»v» him 27y nk»1w, when indeed he is nXn1w RN
'1, because of 2°M2°72 nXAY!

> o 2na A (RPL while connected) means if one is in physical contact with a n» Xav while the ni Xab is still in
physical contact with the nn.

6 qryy 13 %07 1 testified (in X, 1Y) that axon XY 277°7 (one who touches a corpse is Xnv). The X3 asked (on
3,72) he is n"mn ®nv (we do not need the testimony of *"2°9). The X3 answered that 0" one who touches a nn and
someone touches him while he is still touching the n» (this is referred to as 2112172 27P°7 27P°7) is AYIAW NDRMILA RAY,
however if he touched him after he let go of the nn, there is only 27y nxmw; w"y.

" The n» xnv need not be actually touching the n» in order that the one who is touching the n» Xmu should be v
TYaw N, but rather even if the n» Xnv did not actually touch the n» but he is a N1 Xnv because he is 7787 on the
nn (as in the case of ¥y71), nevertheless the one who touches this n» &nv (the ¥71) while he/it is still being 5y onxn
nna, the Y21 is Avaw n¥»w Xnv. Why does " say that the y»w mistakenly assumed that he was 'T nkn1v X1v, when
indeed he was 'T NX11W Xnv because of 012 12 AxMY. [Note; see ynww 7"7 °"w7 who writes that for something which
is nnn Yy 290N to become (‘T NXMIL) Xnw it does not need to be a MoV TML.]

8 Others reference >'n 1"v5 N2aR, which states; 1°RAY 07953 YNIT NAA 5V 27IRAT. See 2717 W9 and NAR NOW.
 However in truth (according to v"9) the 72°X was &»v because of 0712172 ARMY, and 1°7U%0H are not ARMIVI DX PR*AN
Y7717 221w (where it is not touching but merely 2°78%), unless it is a 19w 7N,
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782 to be X»2v» anything underneath them on account of »1x if they have the
thickness of a ¥79% (a third of a rov).

Summary
"1 maintains that the ¥ assumed that they were Xnun the 7vyaw nRmw 2°X (for

the ¥77 was 2°7%7 on him) when in truth he was only 27 D™ Xnv for touching
the ¥y77. However while '01n agrees that the ¥21% assumed that he was 't DX XY
because of ?nxn (like °"wn) nevertheless in truth they were &nvn him 't nxmw
because of 2112°12 XMW (not because of 777RM; since there was no 19v 7NWD).

Thinking it over
The rule of 2>M2°m2 AXMIY 1s only if the two are actually touching but if there is

something between the nn Xnwv2 ¥ and the N Xnv (a cloth, etc.) there i1s no XMWY
o n2°ma. ' Seemingly nsown did not have to say that (according to v"9) in reality
they were Xnun the 't nXmW2 13°K, rather Mo0IN could have said they were Xnavn him
only 27y nXmw32, but the ymw assumed they were Xnvn him T nXmw because of
2nxn. Why did moon insist that in truth they were X»v» him 't nXmw because of
o 2m R !

' See following ¥"7 72K 71"7 ‘01N
" See x"wn.
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